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GENERAL INSTRUCTIONS TO THE EXAMINEES :

) wltemefl gdwem 3194 Ye-93 W AHe Afartd: foag |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2) wfi gy 0 fEd # |

All the questions are compulsory.

3) W Y¥ 1 I A T IR-Yferh § & ford |

Write the answer to each question in the given answer-book only.
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4) 57 gt § aafis @ug €, 3 oft F s @1y A g |
For questions having more than one part, the answers to those parts are to be

written together in continuity.

5) w-va ¥ Rt 3 ool W & Rt waw 1 g/ o/ fedurme &R R
IS & W91 & & 9 71 |

If there is any error/difference/contradiction in Hindi & English versions of the .

f

question paper, the question of Hindi version should be treated valid.

6) W & I for@a @ qd 9 H1 swE saw i |

Write down the serial number of the question before attempting it.

7) WA T 20 HHRA 1 ¥ Geiti 2 3 4 37 H R

Question No. 20 is related to map-work carrying 4 marks.

8) U HET148 207F ¥ A fwhed B |

There are internal choices in Question Nos. 14 to 20.
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: Multiple Choice Questions :

R :

[|us - A
SECTION - A

1. ey w % IO H1 T Fabew 99 W I -yfeen H fafae |

Choose the correct answer of the following questions and write in the answer-book.

i) g A R < & wftg sifeeer o 7 I

) AU ) e
q) sl 3) W
Giuseppe Mazzini was a famous revolutionary of which country ?
A) England B) Austria
C) Italy D) France

if) W%ﬁg@ﬁﬁmﬁﬁaﬂq—mwgﬁmﬁﬁﬁuﬁrﬁﬁﬁm? 1]
a1) ATl S ¥) UM
7) foed g) geell

Which of the following couniry was not included in the axis power in
the Second World War ?

A) Nazi Germany B) Japan
C) Britain D) Italy
i) dd § waeh wugl firr fobm ad e oAl 7 [1]
31) 1852 W) 1854
H) 1860 2) 1862
In which year was the first cotton mill set up in Bombay ?
A) 1852 B) 1854
C) 1860 D) 1862
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n) THERATE [ R e o 1]
H) e %)
A) Fn %) geigE
Who wrote the book ‘Ramcharitmanas’ ?
A) Valmiki B) Surdas
C) Kabir D) Tulsidas
V) W oo 1 I g 7 [1]
H) T 9) WH
) s 9 T) S
What is the meaning of the word “Vellum’ ?
A) Copper plate B) Parchment
C) Palm leaves D) Paper
vi) 9l i vgeht IR wXfdma faat it geft § wa mive fon w2 [1]
A) 1991 ) 1992
|) 1993 q) 1994
When were plants first included to the list of protected species ?
A) 1991 B) 1992
C) 1993 D) 1994
vii) 4 g8 HiY Y Nuwey § fhw T & S e € 2 [1]
) IR q) Ug
q) e Q) e
By which name is slash and burn agriculture known in Andhra Pradesh ?
A) Valre B) Podu
C) Khil D) Kuruwa
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viii) e 8 8 sufas @l 2 1]
) T T) g
q) I g) amm
Which of the following is a non-metallic mincral ?
A) Bauxite B) Lead
C) Mica D) Gold
ix) W@ 6 g ¢ Y@ A T 2 1l
) 7615.6 T, =) 7761.6 Rl
T) 7156.6 . ) 7516.6 feet.
The length of India’s Coast line is
A) 7615.6 km. B) 7761.6 km.
C) 7156.6 km. D) 7516.6 km.
x)ﬁﬂﬁﬁﬁ?ﬁéﬂﬁ@ﬁmﬁﬁmﬁﬁwﬁ%? (1]
) B 7) fieA
F) oA ) geelt
Which of the following countries shares border with Belgium ?
A) France B) Britain
C) Spain D) Iltaly
xi) mﬁmﬁaﬁq—mwaﬁ?ﬁm%? [1]
) " §) dF]
w) f& g) smel
Which language is the most spoken in India ?
A) Marathi B) Telugu
C) Hindi D) Bengali
[Turn over
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i T T A qfens B A % e B 0 )

¥) "9 g ¥) T gH
d) guad] ge= z) wafme faeg
*Police” comes under which list in the Indian Constitution ?
A) Union list B) State list
C) Concurrent list D) Residuary subjects

xiii) 391 1 & SF-m T oty A e w5 e R i
) WA FHa v
9) 3fogaq Jvae wm
¥) FRrR ol Hiw 3o
q) I 3TeH! i

Which of the following parties is a part of the ‘National Democratic
Alliance’ ?

A) Bharatiya Janta Party

B) Indian National Congress

C) Communist Party of India

D) Aam Aadmi Party

xiv) frer & & B Tarfifas gel AT T R 7 (1]
3) fafy smm §) HFAUaEES A
q) | FE 2) TS Afgen s

Who among the following gives recognition to political parties ?

A) Law Commission B) Minority Commission

C) Election Commission D) National Commission for Women
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xv) i m—mmﬁ*mlﬁlimﬁyaq‘nmﬁﬁ

i o 1
m) AW 2) A mh
W hich metal coins did Indians use as currency
A) Silver B) Gold
() Copper D) All of these

i) T T T g afg R (1]
3) A TS |7y ¥) & 8
§) T A HOR A 3) W afy
The dam is situated on the Narmada river
A) Sardar Sarovar dam B) Harike Barrage
C) Rana Pratap Sagar dam D) Jawai dam
xvii) GEER I TE8 MYRE AT @ 1]
¥) e §) 3-4d
§) efer Q) %
Most modern medium of telecommunication is
A) Telegraph B) E-mail
C) Telephone D) Fax
i) ST T AR w9 T g 7 1

) 1986 ) 1985
) 1999 Q) 1994
When did the Consumer Protection Act come into force ?
A) 1986 B) 1985
C) 1999 D) 19%4
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5 fraa syl 1 g R

1ill in the blanks.

i 1848 7. Uk WifE wer

3 an ot ) v pEen #E 0 (1]
In 1848, a French artist prepared a series of four paintings. |
i) gEHE WY T fa 2 ) H |

Hirakud Dam is situated on

L

i) EE QR F Wy fopa | ]
Bhoodan movement was started by
iv) #ftciet | fageht Wit srftrepiy & (uf) 2 | 1]

Most of the Sinhala speaking people in Sri Lanka are
(religion).

V) &7 P B T3 Gaft @ Wt T T R | [

sector is also called agriculture and related sector.

vi) Eﬂ@@f?@ﬁ@@héqﬁﬁmﬁ#ﬁﬁ%r [1]
A large part of the is also controlled by multinational
companies.

3. sfaergaUeES I | B et 3 IO U WIeg 7ea U Uit B i |
Very short answer type questions : Answer the following questions in one

word or in one line.

i) et gga geie T ou # ST g3 7 1]

In which country was the Bretton Woods Conference held ?

i) “ATER S @ § Y 1 HAA € 7 [1]

What do you understand by ‘Vernacular Press Act’?
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i) TETER (1871) AE TW A forgh - "
Who wrote the book ‘Gulamgiri’ (1871) 2
i) T T AP T i W Hifw | )
Examine “Small is Beautiful” Book.
v) 3 8§ Fwe! e B g Hifv | (]
Implement the Chipko Movement in your area.
vi) W wEe 1 faveem fifs | (1]
Analyse Rabi crops.
Vi) A B Y GEY Vg A 2 7 FH T B T | 1]
Why do you consider ‘Democracy’ is the best ? Give a reason.
viii) ﬁmﬁﬁa@ﬂﬂmwmﬁﬁaﬁmﬁaﬁﬁ%? 1)
In democracy to whom be respected by majority ?
ix) mm@n,m%%ﬁaﬁéﬁwf&rﬁﬁ%% [l
According to you, write any two essential conditions for democracy.
x)wﬁwmwmmmmmw| (1]
Write the name of the institution that issues currency notes in India.
xi) fygq SIR TaA F1 I4E 9 TR ? [l
What is the main aim of World Trade Organization ?
xii)w%mmm’m%ﬁﬁm%‘?@mﬁﬁql i
How can you use ‘Right t0 Choose’ ? Give an example.
[Turn over
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SECTION -B

TS W (I W6g HIWT 0TI 50 915

Short answer type questions : (Answer word limit approx. 50 words)

4. THAE G AE w9 hl e HR [1+1=2]
Compare the Germania and Marianne allegory.

5. 1929 WEME] % Hi3 & HRUN I sATE Hifd | [1+1=2]
Explain any two causes of the Great Depression of 1929.

6. wetre gt i vErtE faRvasi st wewi f ww=m A | 2]

Identify the chemical characteristics and components of Alluvial soil.

7. o3 & vEmEd | 9t 99 I Yot Y UEEH o 39 W gE iU | 2]

Identify and discuss rainwater harvesting system with the help of picture.

8. sftcit & T 1 Hifei o S el @ qive agemE ¥ ey w0e gu o
w15 3 fifei gaw § v Hf | [1+1=2]
‘In Sri Lanka, relations between Sinhala and Tamil communities strained
due to government policies’. Discuss any two such policies in brief.
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9.

10.

i1.

12.

13.

1992 ¥ Gl TG X cAebelTi=ep e e § g Fapmt 51 35 g
TR ST SR TR 7 Wi @ weMe A | [1+1=2]

How was the local bodies of democratic governance made powerful

and effective by amending the Constitution in 1992 ? Mention any two
provisions.

WMﬁﬁamWWWWF [1+1=2]

Mention any two employment activities of informal sector.

e arforen 3 e e v et g I e (e ) R g | [1+1=2)
T | mufie o | e dae GiRE e
2000 52,000 48,000 1,35,000
i) I ATHST A ¥ 2000 F HHA R e Hi TR FA |

ii) =¥ 2000 % Tl &k 1 AvrerH Sreifien & & fhan ifir o, ORI |

The following table shows the contribution of all three sectors to GDP (in
crores).

Year | Primary Sector | Secondary Sector | Tertiary Sector
2000 52,000 48,000 1,35,000

i) Calculate Gross Domestic Production by above data in the year 2000.

ii) Calculate how much contribution of the tertiary sector was more than the

primary sector in the year 2000. https://www.rajasthanboard.com
W@Wﬁﬁﬁﬁ%ﬁﬁm@gaﬁéwwﬁaﬁlﬁﬂm | [%x4=2]
List any four benefits of the development of information and communication
technology.

mw,waﬁaﬂq-ﬁwﬁaﬁwﬁmgﬁwﬁwwmﬁ% ?HE A
gfywnadt 1 o AT | [1+1=2]

According to you, which public facilities does the Government provides us ?

Describe any two facilities.
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@uE - |
SECTION - C

& -390 v ; (IW Teg HIW T 100 Vi),

Long answer type questions : (Answer word limit approx. 100 words)

14.

15.

16.

mﬁwﬁa@mﬂn@ﬁﬁaﬂmmmﬁﬁg‘é a1 3
How did the lives of workers get affected due to abundance of labour in the
market ? Write.

FAYF/OR
R 6 % TSR & TAe WA T T YWE g ¢ FUi HIT |

What impact did the inventions of the eighteenth century have on the
production process ? Describe it.

AT R FFETE) FEMl # I T HIT | [12+1%:=3)
Explain the difference between igneous and sedimentary rocks.

FYA/OR
ehfersh T8 3R Tr-T 3 3T e Hif |

Explain the difference between natural gas and biogas.

T Tal Y Aiha § 1 & g @ 7 9o & H 39T 7 W
$Hiw |

Explain your opinion in favour of why political parties are needed in democracy.
JYar/OR
Wi § TerifaE ot & ford T gifer o st w9 wwe iRy |
) T % i AbaA H A9 |
) gYaTg 1 I |
Explain your opinion on the following challenges for political parties in India.

A) Lack of internal democracy in party.
B) Challenge of dynastic succession.

[3]
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e el HET B GEeA 2 | a7 St ot % W TEch AW i o)

T S 2 | TN TG U AW % fore ot % wrehl A% W s fam

w1 § | 3T A H TG F g0 W A 1 Al aavas g w
fergetumr SR IS | 3]
Ashwin is a student of class tenth. He goes to the bank branch first time with

his grandmother. There he have to fill necessary details on grandmother’s

blank cheque for cash withdraw. Present an analysis of the necessary details

to be made on the cheque to help Ashwin.

AYAT/OR

Tk BIS TG TG0 F T At R afeen 3 i § o veew @ @d F i
00 foT | FH S 7 G 9 R I el 3 Ig i e o |
721 % Hed 1 3 amftr & § W st w1 Ryvew SR |

A poor woman living in a small village Manyapura took a loan for farming
from a village money lender. Due to her inability to repay the loan on time,
she had to sell some of her ancestral land. In the context of this incident,

analyse the credit problem in rural areas.
@G ig - ¢
SECTION-D

Fra=erenss Y9 ¢ (I Ieg HIWT ST 250 W),
Essay type questions. (Answer word limit approx. 250 words).

st e § 1 geI 1 A T | 4]

n the events before the non-cooperation movement.

3rEar/OR
Wﬁ%ﬂﬂﬁﬁamwﬁﬁyﬁ%ﬁm%mﬁaﬁw
gHI | A ] ATETT HIFAT |

Idea of nationalism also developed through a movement to revive Indian

Explai

folklore. Explain the statement.
[Turn over

S-08-Social Science


https://www.rajasthanboard.com/

19.

20.

14

i sl of w2, Fore wfeenai dea 7R 2 1 g8 B A
forega Friree B | 14]
‘lndi;m society is still patriarchal, in which women face discriminations’.
Discuss the statement in detail.

FUAVOR
s st - Bt X ol B wmes @ uied SR 1 39 HUd H
fepcqa fa=mn Hifsd |

‘The Indian Constitution — makers have chosen the model of secular
covernance . Discuss the statement in detail.

fed M WA ¥ Y umtE § frafaan s g sam (3, ¥9) 1w T
(8, 3) %! 3Alhd HIT | (1+1+1+1=4]
) e ) WHTT
) AT 7) Hit

Mark the following woolen textile center (A, B) and sea ports (C, D) in the
given outline map of India.

A) Ludhiana B) Jamnagar
C) Marmagao D) Kochchi

FAUAT/OR

fou M v % T wwtE | FefaRea 6 a6 s@m (3, 9) @ aggd o
(4, 7) =i 3Afera iR |

) YT ) HEHEG

) qdita ?) fean

Mark the following woolen textile center (A, B) and sea ports (C, D) in the
given outline map of India.

A) Amritsar B) Ahmedabad
C) Tuticorin D) Haldia
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